Fézowd diference : 13.1.200910:00:00 - 16.1.2009 17:00:00

14.1.2009 7.30hod _ Brno DS 22kV - uhly napéti

BNT T103/A 6MW/2MVAr +TG27 18MW/1MVAr ]
BNT T101/B 27MW/4MVAr 1

BOB T101/A 36MW/OMVAr
BOB T102/B_10MW/2MVAr 3

14.1.2009 20.00hod _Brno DS 22kV - uhly napéti
BNT T103/A 21MW/2MVAr +TG27 vyp.
BNT T101/B 27MW/4MVAr

BOB T101/A 28MW/-2MVAr
BOB T102/B  8MW/1MVAr
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Fazova diference : 13.1.2009 10:00:00 - 16.1.2003 17:00:00
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Fézowvad diference : 1312009 10:00:00 - 16.1.2009 17:00:00
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Fézowva diference : 23.3.2009 17:00:00 - 27.3.2009 17:00:00
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27.3.2009 12.39hod  Brno DS 22kV - uhly napéti ]
BNT T101/A 26MW/4MVAr +TG27 vyp.
BNT T102/B 23MW/3MVAr 7
BOB T101/A 28MW/-1MVAr g
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Fazova diference ;. 23.3.2009 9:20:00 - 27.3.2009 21:39:00
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Fézové diference . 242009 65319 - 2.4.2009 7:25:45

2.4.2009 7.06hod __Brno DS 22kV - uhly napéti
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Fézowva diference : 2.4.2009 7:05:04 - 2.4 2009 7:193:00
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